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2172 | #1 R H LR BrRETFE FLIR101% 2 Hidke B IR 643 1 Hisk 335. 2 0
2173 |14 B Bty m—TH 5 &k TALFRCE T4 R 1 1 % 1,437.9 0
2174 | 1 E R I HERN1013F 1 Hi%e FAEFREM T T 47 1 H ke 1,172.5 0
2175 | BB 2 4 Sk HETE CAT LT B T4% Hi sk HFTEFSCAT =T B 3 % 3 Hudke 1,550. 1 0
2176 | BEAR LT B 2 9 5% iR — T H236% 1 Hist AR F. T B 513 6 Mk 320. 8 0
2177 | 4 5 75 B 4578 =T A 329% 3 ik BT EE L &2 1%k 969. 4 0
2178 | /)N v VI O IR TN P R 645 2 sk 25 BT VR B3 7435 Hi o 1,127. 4 0
2179 | AME) AR = 7 HE R MBS AR 1383 1 Hi sk BN = 7 185129 1 Hu sk 1,148.2 0
2180 | 4 J& Mt 1 5 JHFLRT 52 K1 5 2337 61 11 58 BT = KPR EF 88 103 4 1,040. 2 0
2181 | )11 7L 58 2 N LT 1T 3492 Hb e FR MR 1278 11115 1,522.4 0
2182 | B2 B BT 1 4 BT FRRET100% 1 Hi2: FREEARI1E 1 Hiske 1,591. 9 0
2183 | FAIRF = SRR 3 SN FAA IR 141735 4 Hi1 5 IR Z SR 1% 3 M 1,443. 4 0
2184 | [ THHE AR AR HOMR JETH T R R 19 2 Mo JER T TR 527 5 Ml 158. 5 0
2185 | [ T H& A P A A TR TR H537% 1 #i 2 JRTR AN E66F 5 S 1,013 0
2187 | BHA5 AR L PRORETHR | S 55 Nl s &k 2 2 7 R L RRT 6335 111 56 3,200. 7 0
2188 | 4R &K Bk T =T H20% 2% 57T H 3807 21 1,305 0
2189 | BEEE 1 SR B BTN 308 5 L A B BT L6 TR 61 S 1,809. 4 0
2601 | 7R 3K BR B # ARIE/NEE R A9 3 Hide KIEWIE 7 1123 1 Hi%k 1,692 0
2603 | T/ F1SH3 LR /NEIS 233 1 HIE a5 R/ NS 2 3% 6 M 1,580. 9 0
2604 | F2 90 [ A Bt AP b 173 2 #h o FRSARET2118 2 #io: 4,694. 5 0
2605 | T /N FAS & RINRZE4% 6 M LT /NELS367F 2 HisE 419.3 0
2606 [ T/NFAS 2 5t ST /NEIS T 2 Mk RS TR A5 HISE 598. 4 0
2607 | /NPARHR AL/ NERE6%F 1 Hi s A N EN49% 8 Ml 2,514.5 0
2608 | & [ IR AR v ) AT Ji PR B 36 12 Hit 4 R 93 % M2 2,368. 1 0
2609 | 3 15 L i i =X 3887 b 4 F L5120 1 #k 1,455 0
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B AR B4 R i a5 feai IR | RUEH
i (m) L& (m)
2610 | fif FH AR ALEF LAl 2R 802 Hi e A6 % H i 298 2 HiJk 517.8 0
2801 | KEFn o 3 = B AT ERE127% 7 #hdk i T ERERT8TE 3 Hidke 353.3 0
2802 | IR b IEAR TR T 863 2 Mk WOUEFRL T 187 Hi S 2,918.3 0
2803 | 41 7 = 2 o B FAED 2 F 1 Ty FT 53R 36 102 3,490. 4 0
2805 | K Fn Hh Y A EFRRETTE 1 HkL i R 328 1 Mk 688. 3 0
2808 | = f@ oy WFEOR 1 FHdk o T A2 2 ok 1,705. 9 0
2809 | #8115 B - Bp THETFRR )1 = 17) FH 2R 4672 211 5 HERAR )7 EBP418% 1 H oG 1,935.2 0
2810 | ZOKARF R TR 2 AR ) 1185 292 24 4 TR AR 74 LR 12 2310 58 2,724.8 0
TTE O — AR OV T, R K 0 A BT ARRE L 22 D ATREtEDRN B 5
(6) Bl (B : k%, T#£ : &%)
FRp284E4 ) 1 A B
'O A4 B A RO A A B EEER R (k)
M RER | i PRRR
RAARRESERASSE |/ N & & | @ms | T | 484.5
N B9y 31.7
HoE AR B BB BRHE 273.0____.
Tk KT 13.3
X A A& B R A R BR ol B | E S v (km)
A AREMSERN S | PR 1P H K H 104. 8
BRUP A KHEY K P 5.3
BPIASHE - b B KHE bk 135. 1
K ERSE | M K [ 5 5.4
b #% FK AR AL 2.5
(7) e i
OFK mERIZ BT DI
R284ET A 11 H BiTE
7zl —
L 3 BE
Bl — A — 5/ B (5 Bl 1 23808 F THREM) I 6 1118
Ko7
LB B
S —IRARE I — R — K — 281l 1 fE
Sl — &R —FKHE — Il E— 8 — 221l 1 fE
S —FKH — i H—RARE I —2& 11 1 fE
Sl — iR — K — 2L — ek — F e — R — 22 1 E
S = — K — N — 2 — 8 Rl — S 1 fE
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@K H s D F 72 AR BE Mk

N S RE
i 5% 44 IN— 2 K (m) JEH  (m)
S E-13m 15 A 1 -13.0 270. 0
S E-13m 25 A 1 -13.0 260. 1
KiE-10m 175 55 1 -10.0 185.0
KiE-10m 275 F5E 1 -10.0 185.0
KiE-10m 375 55 1 -10.0 185.0
Kie—4. 5m 15 5B 1 -4.5 60.0
Kie—4. 5m 275 7B 1 -4.5 60.0
s 15 R 1 -9.0 161. 4
e 205 5 B 1 -10.0 185. 0
e 305 5 B 1 -10.0 185. 0
At 5 BHA S BE 1 -7.5 122.0
1t 5 BHBSF BE 1 -7.5 155.0
P 5 BHC e B 1 -5.5 155. 0
P 5> BED = B 1 -5.5 90. 0
T = -5m/j5 B 4 -5.0 345.0
SFN 500 7 BE 2 -7.5 195.0
-7, 5m 15 jF R 1 -7.5 130.0
-7, 5m 25 JF B 1 -7.5 130.0
M{E—10m 15 5-aE 1 -10.0 185.7
M{—10m 2% 5-aE 1 -10.0 185.5
M —10m 395 FHaE 1 -10.0 185.0
M yE—12m fEhE 1 -12.0 240. 0
FRk284FE4 A 1 HBUE
HEHRNLVT v
i 5% =2 K (m) JER (m)
WIEE 15 N7 4~ 1 -8.0 46.0
WIEEH2H v 7 4~ 1 -8.0 46.0
WILE 135 Fv>7 4 1 -13.0 309. 0
=ESTIVTIVELT v 1 -6.0 38.0
HBEE ST v 1 -6.5 45.0
J X HeAGE 1 -8.0 164.0
EHRFEE RNV T 4 v 1 -5.5 28.0
H kv > v 1 -7.5 45.5
WA A V2 — KR Ky ¢ v 1 -6.5 124.0
B RLVT v 1 -7.5 35.0
A BIE CBR) A S S AR BB T3 L7 ¢ v 1 -11.0 170.0
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(8) AT Hs

O ZEEC BT 2 FENEHEOBHTIRDL CPRk2844 H O RLHTikdL)

LA HE AT (58 5%

(Frid)
BK AU 9
FK -0 T 6
K -ALR (i) 4
-4 &R (HED) 2

Q%K 22 (2 36 1T 2 FRAT I BE At 7%

VR 2844 H 1 H BAE

Pl 2,620m X 300m
18 7E 5, 200m X 60m
i B 2,830m  W=30m (SEAT#5ERES)

W=32m (HufaFE T 1.
W=34m (Hf+aFEKT 2.

T5)
T3, T4)

~7ua 310mX190m 5 /3— A

)~V =77 — [ b5
TS HTES D~ U 27 % — [l R 5 B 5

Rk 2844 1 H BAE

RAIBE

AR

6

10
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